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[1:¥d E & ouT IN GR HDCP NET Bz
B R AR 40 38 78 | 10.0 | 68.0
B RN 37 37 74 3.0 71.0
3 |lLE =E 42 41 83 | 11.0| 72.0
4 | TH &I 51 49 100 | 26.0 | 74.0
5 |T# &8 41 39 80 5.0 | 75.0
6 RE Fth 37 40 77 1.0 | 76.0
1 |F#k RE 42 45 87 | 10.0| 77.0
8 |HE E= 46 44 90 | 10.0 | 80.0
9 |BER X 45 46 91 | 11.0 | 80.0
10 [ KFE #A 45 48 93 | 12.0| 81.0
1 |BE fEX 44 48 92 | 10.0 | 82.0
12 B R 46 44 90 7.0 | 83.0
13 \ME RE 51 42 93 | 10.0 | 83.0
14 &F —F 41 49 90 6.0 | 84.0
15 | EXR fhss 48 42 90 5.0 | 85.0
16 Fpth FHH 49 41 90 5.0 | 85.0
17 &R X 48 47 95 | 10.0 | 85.0
18 B EE 49 47 96 | 11.0 | 85.0
19 BT *— 51 50 101 | 16.0 | 85.0
20 |BXR ME 48 53 101 | 13.0| 88.0
21 | EH mF 52 50 102 | 14.0| 88.0
22 Rk B 57 46 103 | 10.0 | 93.0
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B 452 E % ouT IN GR HDCP NET Bz
B KE =B 40 38 78 5.0 | 73.0
#E EAK * 37 43 80 7.0 | 73.0
3 |RE EE 38 37 75 1.0 | 74.0
4 |FH PR 38 43 81 6.0 | 75.0
5 |EME = 45 39 84 9.0 | 75.0
6 |BA FF 43 48 91 | 16.0 | 75.0
1 |k5F #BE 44 41 85 9.0 | 76.0
8 |BEXR ME 44 45 89 | 12.0| 77.0
9 | = 44 40 84 6.0 | 78.0
10 |fEaK =F 42 43 85 7.0 | 78.0
1 #T G 44 44 88 | 10.0 | 78.0
12 |HE —E 43 41 84 5.0 79.0
13 L EA 43 47 90 | 11.0 | 79.0
14 EH =A 43 47 90 | 11.0 | 79.0
15 IR/ #z 40 40 80 0.0 | 80.0
16 |hE iF 42 46 88 8.0 | 80.0
17 (luO &5 51 48 99 | 18.0 | 81.0
18 R A 57 51 108 | 27.0 | 81.0
19 | KE A& 47 47 94 9.0 | 85.0
20 |HiE & 43 49 92 6.0 | 86.0
21 | KA #t 56 40 96 8.0 | 88.0
22 |EF HE1T 56 51 107 | 13.0 | 94.0
OPEN |HT fEE 39 41 80

WE =6 47 53 100
Fht BRE 49 53 102
B B 45 48 93
HWE AfE 54 52 106
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